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NAME	DATE	PERIOD

Unit 5 Lesson 13: Representations of Exponential Functions
1 Which One Doesn’t Belong?: Representations of Functions (Warm up)
Student Task Statement
Which one doesn’t belong? 


A
[image: /app/tmp/embedder-1671004731.6811535.png]


B
[image: /app/tmp/embedder-1671004731.7538135.png]
C:  


D
[image: /app/tmp/embedder-1671004731.8192596.png]
 
2 Interrogating Function Representations
Student Task Statement
1. Consider the graph of  and corresponding table.
· 
· [image: /app/tmp/embedder-1671004731.868678.png]
	· 
	· 

	· 0
	· 3

	· 1
	· 6

	· 2
	· 12


0. Using the first two points, what is the growth factor?
0. Using the second two points, what is the growth factor?
0. Where do you see this growth factor in the equation?
0. Where do you see the growth factor on the graph?
0. What is the vertical intercept of the graph?
0. How can you tell from the equation that this is the vertical intercept?
1. Consider the graph of  and corresponding table.
· 
· [image: /app/tmp/embedder-1671004731.9476118.png]
	· 
	· 

	· 0
	· 8

	· 1
	· 4

	· 2
	· 2


1. Using the first two points, what is the growth factor?
1. Using the second two points, what is the growth factor?
1. Where do you see this growth factor in the equation?
1. Where do you see the growth factor on the graph?
1. What is the vertical intercept of the graph?
1. How can you tell from the equation that this is the vertical intercept?
3 Matching Representations of Exponential Functions
Student Task Statement
1. Match each function with the graph that represents it.
· 
· 
· 
· 
· 
· 
· 
· 
· 
· 
· graph 1
· [image: /app/tmp/embedder-1671004732.0354757.png]
· 
· 
· graph 2
· [image: /app/tmp/embedder-1671004732.0892632.png]
· 
· 
· graph 3
· [image: /app/tmp/embedder-1671004732.1386638.png]
· 
· 
· graph 4
· [image: /app/tmp/embedder-1671004732.1882448.png]
· 
· 
· graph 5
· [image: /app/tmp/embedder-1671004732.238036.png]
· 
· 
· graph 6
· [image: /app/tmp/embedder-1671004732.3043172.png]
· 
· 
· graph 7
· [image: /app/tmp/embedder-1671004732.3564086.png]
· 
· 
· graph 8
· [image: /app/tmp/embedder-1671004732.4089403.png]
1. On two of the graphs, show where you can see the vertical intercept: 108 and 300.
1. On four of the graphs, show where you can see the growth factor: , , 2, and 3. 
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